Tableaux des Puissances de Dix (E)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (E) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 100 10 0,001 0,0001
7,38 738 73,8 0,00738 0,000738
1,75 175 17,5 0,00175 0,000175
9,62 962 96,2 0,00962 0,000962
5,22 522 52,2 0,00522 0,000522
4,3 430 43 0,0043 0,00043

X 10 1000 0,0001 100
7,95 79,5 7 950 0,000795 795
2,95 29,5 2950 0,000295 295
4,17 41,7 4170 0,000417 417
9,63 96,3 9630 0,000963 963
3,9 39 3900 0,00039 390

X 100 0,001 10 000 0,1
5,57 557 0,00557 55700 0,557
9,28 928 0,00928 92 800 0,928
6,16 616 0,00616 61 600 0,616
3,58 358 0,00358 35800 0,358
7,14 714 0,00714 71400 0,714

X 0,0001 0,001 0,01 10
9,99 0,000999 0,00999 0,0999 99,9
4,99 0,000499 0,00499 0,0499 49,9
1,69 0,000169 0,00169 0,0169 16,9
2,44 0,000244 0,00244 0,0244 24,4
5,21 0,000521 0,00521 0,0521 52,1
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